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THE - HER - Biks HLAZ Hos fii &
1. BHT
(1)%EHT
HHE (FHEMT)  (FEAEXMEO. 3hall )  [IXEHY KL (ELIFE) ha 1. 820
FER (EBEET)  GEKE shapl k) [fga it REGEERL 1. 820
AR - RERESES (BRSO, Sha b ) g BRI 1. 820
Mewmbr2 (1355 40E 1) ha 1. 820
B+ WE+ ha 1. 820
(2)#BA: LiF T
BRI ot 190. 0
(3) AR T
EINESIA ot 6
PR (L) BT - MR m3 9
fEAE T ot 1. 000
(4)f# T
VU, 200mm, B8 (M7= T
HH T HE7K F M), 4. o, OF&FT, , ., , 0 AT 5. 000
f41FIT
227 Y — Ry AR RS ?Eh;ﬁ %)kg%;tﬁ % 200kg A 3 5. 000
HH T HEK F HIEE ¢ 200 & T 2. 000
227 Y — Ry AR RS ?Eh;ﬁ %)kg%;tﬁ % 200kg A 3 2. 000
(5) M HUE L T
a7 U — MEEWEEE L #Ef5Con m3 120
a7 ) — MEEDEREE L A fiiCon m3 5.0
X A Con m3 120
FE A fiCon m3 5.0
M - ALEL (PEEFERMLE) HERH Con m3 120
M - LE (PEEFERMLSE) A #Con m3 5.0
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TR - A - A Bikk HAL ok i #

2. KB (BKE)

(1)EKRLT

IRYE D m3 98
Y HLHEL b+ m3 1. 000
b ELHE2 b m3 4. 000
M1 i+ m3 14
M2 i m3 61
M3 i m3 6
R4 i+ m3 5
PR — b m 26. 000
(2)EHT
B e = VP ¢ 200 m 30. 300
B SR e = VU ¢ 200 m 162. 300
BRI e = VU ¢ 125 m 4. 300

& ¢ 200%90° HEBLRS 1k

TR Y Hfifh © = VEREF M b G 4. 000
TR AR U Ak © = V& ik EEE; %200*450 REBLES 1 & 2. 000
R U i E = L b g g0 V2 BER g 6. 000
TR AR U Ak © = V& kA gﬁgﬁégﬁu 147 W & 1. 000
WK U i E = L b g 2 2000 B8 BERD | g 2. 000
TR AR U Ak © = VB kA %%%125*900 REBLES 1 & 1. 000
TR AR U Ak © = V& kA ﬁ;iggﬁg’*g’ 5/8" HEBLYS & 1. 000
B AR Y fifh © = VEREF Eﬁiﬁgﬁéﬁ)* 9200 ML & 1. 000
WU U S © = AR g 200eo s BERDT | gy 4,000
B AR Y fifh © = VEREF gﬁﬁiggﬁw 0125 ML &l 1. 000
Fii HlAKF ¢ 200 7.5k 5% 2. 000
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THE - FER - AR Btk HAL E6 s fii &
K S PR L B-3%4 K 1. 000
K S PR L B4 K 1. 000
(3) Kt L.
H #hfa K2R E T 50A & A 1. 000
H #hfa K2R E T 80A & A 3.000
3. HEAKET
(D fEELT
Eatell 3 H m3 230
Eatell m3 73
REED m3 390
HLRE m3 240. 000
%+ m3 350. 000
(2)#AL LT
IEInETY i 94
IEInETY i 850
(3)fEAET
(4)HEKEET
a7V —F 7Y 2—A KF300 m 288. 600
a7V —F7 U 2—A KF350 m 16. 900
a7V —F7 Y 2—A KF400 m 175. 300
R T b 2— L5 ¢ 500 m 4.000
R T T ¢ 500 m 19. 000
R T b 2— L5 ¢ 600 m 4.000
IR T HIEE ¢ 700 m 12. 500
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A - FER - AH FLs XA o i
KEZ Y 22— 600600 m 83. 900
(5T
HOT B17Y AT 3. 000
HOT B2 AT 1. 000
(e 13 (B H R 1ERR) & AT 12. 000
(e 270 (BH 1 B e pR) & AT 3.000
(e 3T (BA P PERR) & AT 8. 000
BERR K B A 1 450X 600 = 1. 000

(6) &% I T

LR (HE - BIE) i 19
FE (HiE - BIF ) i 19
(7) BLRRE M HEREIE 1A T GW28 1=6.8 ¢ TO0¥ERR

HiERE T GW28 L=6.8m ¢ T004%ERR K 1. 000

(8)HA RA T « RIEL

T — R T - E m 4. 000
4. EET

(1) 9EH T

Eatell 3 H m3 380
(2)BHRELT Wi+

FEIR R+ m3 1, 200
(3)#AL LT T

IEInETY i 56

LR (- AL i 750
(4)fEAET
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TAE - FER - AR Bk HANT Kok i %
(5)7 A7 7 /v Milit& T MY ST
LREE (FOE - BFE) nt 60
£ (HHE - BEH) nt 60
(6) WhRIEHE T [CAmIRR =y
HAF m 1, 300
5. L
(1) Pk LB T
PokRr 7 (e AT 1
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